Statistics – OR 155, Section 2, Homework # 9
Due:  Thursday, March 22, 2007
5.21,    5.23

C18:  In a political poll of 2000, 1010 will vote for A.  To decide how “safe” it is to predict A will win:

a. Calculate P{X >= 1010}, 




for X ~ Bi(2000,1/2)      (0.327)  (“could happen”, so not safe to predict)

b. Recalculate, assuming 1050 will vote for A





(0.0127)  (now have stronger evidence, will build on this)

HW C 19:    For X ~ Bi(25,0.4)

a. Check this is on the boundary of “OK” for using a Normal Approximation.

Find:

b.
P{6 < X <= 11}

c. P{6 <= X < 11}

Using:

i. The naïve Normal approx.       (0.607,0.607)

ii. Normal approx. w/ cont. corr.       (0.653,0.548)

iii. The exact Binomial Distribution     (0.659,0.556 )

5.25    work with both BINOMDIST and Normal Approx.  (BINOMDIST:  (a) 0.1495   (b) 0.0418)
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